.o TUITION CENTRE™

UNIT TEST Date : 28-Oct-19
10th Standard
&60NGLD Reg.No. :
Exam Time : 01:25:00 Hrs Totat Marks 50
I.CHOOSE THE CORRECT ANSWER 9x1=9

1) @@ daLl (s AgLjauflnguiled (LpgeL 2 mIL 1 oMMID QUTE NSHWITEFLD . QhHS Fal B
QBT FeUFlenguied 615%86m6sT 2 MILIL|ISHEN6NS Forl_lq60TT6D HG6T Fo(h&H6L 120 6L &@GLD?

(@ 6 (b) 7 (c) 8 @ 9

2) If A2% IDHMILD B=20%+263+262+ 20 616018 Q&M(H&HSLILIL (heiTeng). L6dTed (b eU6TeUMMICD 618 2 6H0T6mLD?
(a) B 46015 A & el 204 (b) A LDOMID B (c) B 6018 A-3 eIl 1 (d) A o605 B-g eflL 1
SIH&LD &LOLD SIFHLD L)

3) 415 661D Q&ML Jeuflensunet HESHS 2 mIL

1678712
(@) (b) o ()
4)  (13+23+33+ ...+ 15%) - (1+2+3+....+15) ulledr S
(a) 14400 (b) 14200 (c) 14280 (d) 14520
5) W &6t UGS HEL Glenewd CHOMSMGLI LWTLRSE), 6THG LDlens & (LHEI6T &6uTHMSUILD 960 AUGEHSLD
LGl HemL&GLD LESse6
(

d <

|

(@ 0,1,8 b) 1,4,8 (¢ 0,1,3 d 1,3,5

6) 1 (PG6L 10 euUeMIIeTeT (Q6Tun(h 6TEUISHEHLD 2 L LIL) 60605 G| 6TEIIGHETTEYILD eUGUGLD O&SEFHMILI 6T6v0T
(a) 2025 (b) 5220 (c) 5025 (d) 2520

7) 7% = (LL(® 100)
(@) 1 (b) 2 (c) 3 (d) 4

8) @ Fal (hd QML jeuflensullsr (&L 2 mILL 1 WMHMID QUITE eNGSHITFLD 4 6T6sil6L LN6STEU(BLD 6TETOIGErl6L
615 QhEH& Fal (5 QSHTLJeUFMEFUNCL SHEMLDULD?

() 4551 (b) 10091 (c) 7881 (d) 13531

9) @ Fal_ (S QHTLFeurlenguies 66ug 2 MILINGDT 6 L RIGLD 7 6ug 2 MILLT6T 7 DL MIGLD FLOLD 6T6sil60,
1580 QHTLJeuflenguilsst 13-61g 2 mILL]|
(@ O (b) 6 (© 7 (d) 18

II.LANSWER THE FOLLOWING QUESTION (ANY 8 ) 8x2=16

10) @ams%rp WP(LP 6TETUTSHAMEHT eUTSHBHLOMENTG] 4q+1, (QRIG q Qh6VGI (L (LD 6T6U0N) 6T63TM 6Ig ATN6L SIEMLOU|LD 6T60TE
SML(HS.

11) 396, 504, 636 QA WIeUHMI6N LE..61 SHM6Hurs.

&y garr@ésasuuu_ eLpesTm) 6TevuTS6eril6dr L. CILIT. 6 &IT6uoT, BITLD (L&D (PGH6L @b 6T6vuIGerM6dT LS. QL. 61
SMeuorGUITLD.

12) 15 = 3 (DL(h d) 6T60TMEUTM)| MDD d -UT6dT LOSLInLS FITLOMEsiEE.

13) §168 8x = 1 (LB 11)

14) 10* = (DL_(h 19) 6T60TMEUTM)| SHMLOU|LD x LDSILIENLIS &H60u1&HE (HS.

15) €2(1h ST S6T6NLLD 2 61161 €15.207 83 Fal_ (5 QAFHMLIJ euflenguiled SeMLOUILD CLPEITMI LITSHISOTTSL LNflS&I%
SHEIH| 6T GLOHMSEEHSGLD Q&M(H&HS all([hLNerT]. Seummlied @@k ML QFHTem&Herfle CILbSHSMLIEV 6T
€l5.4623 YGLD. 661G, GLHMGU|D QUMD QHTENSHUNEETTSH HT6TIS.

16) LiletTex (b eueTTeUMMIEH (LP&HEL 2 MILIL] HMILD CLMG ONHHLD QASHT(HSHSUILL (HETeSI, SHsnINL I CQL[HSHEGS
QB TLJeUFflenF Hemens SHIT6uo5.
a=-7,r=6

17) sa.(h&H6L SIT6H015:
1+3+5+...+55

18) 9, 3, 1,... 61601 QUBHEGS QST JeuFlengune 8 -eugG 2 MILIEHLIS ST6HuIs.

19) 1+2+3+...+n =666 61607160, n-UI6dT LOSILIL| HIT6VTS.

III.ANSWER THE FOLLOWING QUESTION (ANY 5) 5x5=25

20) 2(p QUHEGS QABTLFeUFflmEUND Se=4095= LOMHMILD r=4 6T63116L, JIGHET PGV 2 MILIHLISG HT6TUIS.

21) 300-6@LD 600-&@GLD QML Gl 7-9460 UGUBLD SIM6uTSH G QUICLETENSATET Fo(HHEV SHITEHUS.

22) 0.40+0.43+0.46+....+1 61601 QHTLIfl6tT Fo.(HSH6L HT6TOIS.

23) @@ Fal (S QML jeuflensullssr 13-6ug 2 ML 3 HMILD (LPFHL 13 2 MILIL&S6N6T Fo(hH6L 234 6160160, Fal_ (B
QHML_Feuflenguier QUTE aNSHWITFLD MDD (PFHL 21 2 MILIL&6NEIT Fa(hH6D HT6TUS.

24) @ Qg HBNIETe OBSEHEE 1 (LSO 49 U ASTLJEAWNSES SHNVESLD QUPRISLILIL (HeTeng).
QEHEH06T el 19.MG (W6tTeIrSHTS 2 6men ai(h&afer &56allevssmiseNsn sal (hd QFHTmSIIT6TE Q&HSed st
il igm@L MNetTenigns 2 6 eih&elsn H56N6068MmISaMN6 Fol (h&HESHTNSHEGE FLOLD 61601160 C1&HEle0l6oT
(0% 550160055556 SHT6U015.

25) 8,,S,,S; 6T60TLI6R (PEMMGIL 621 Sal_ (58 QST Jeuflengullest (PG6V n, 2n, 3n 2 MILILG6MNT Fa(HH60 Y GLD.
S-3S Sy gamppeis. o

26) 8,7,+,65,5% ... 61681M Fal S QBMLJeuflengues (LHGeL 15 2 MILILG6e6H FaBSH6L SIS,

5163,
Kindly send m%xﬂijerFrrEeBEwnail id - padasalai.net@gamil.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

